181

1/8

88

7/8

63

28

172

\

6x16 LFR
ASSEMBLY VIEW
SCALE: 1"=1'~0"

6x16 LFR
ISOMETRIC STRUCTURAL VIEW

SCALE: NONE

REV. | DATE | APPR.

DESCRIPTION

BY

DESIGNED:
DRAWN:  S.M.
TRACED:
CHECKED:
REVIEWED BY:

L Sean_McEvOY |
PROJECT ENGINEER

REVIEWED BY:

CG—432B
REVIEWED BY:

CG—432

U.S. COAST GUARD

CIVIL ENGINEERING

HEADQUARTERS

2007 TYPE

6x16 LFR BUOY

APPROVED:

DATE

S.D. Walker, acting |12/11/07

CHIEF, OFFICE OF CML ENGINEERING

UNLESS OTHERWISE SPECIFIED:

ALL DIMENSIONS

ARE IN INCHES.

TOLERANCES: DIM. £1/32
ANG. £1°

DRAWING NUMBER

121184

REV.

scate: ~ NONE

|SHEEI' 1 of 10

PLOTTING SCALE: 1"=1’-0"




o

—

A/

(®

Ly (

(AN A E 4 VA WARR |
. N N 7
~
f 1) N
G @
—0Q- o[t o 0 n
N
2)
Eg o
v . 4
B ° o -] (-] (-] B
< O
°' a a) b
Bl | S -
———0 o[ ] P D _ o
C ° C a
N
o 158" 158"
. 4
a o D
NN
QL]
17

{/ (el

7] ©

PR
9F

TOWER ASSEMBLY

SCALE: 1-1/2"=1"-0"

BUOY DECK ASSEMBLY

SECTION A—A

SCALE: 1-1/2"=1'-0"

20

SECTION B-B

SCALE: 1-1/2"=1'-0"

15§" 158"

31F" %Teyr VERT. SUPPORTS

SECTION C-—=C

SCALE: 1-1/2"=1'-0"

SECTION D-=D

SCALE: 1-1/2"=1'-0"

¥ SETBACK
TYP.

REV. | DATE | APPR. DESCRIPTION BY
DESIGNED: U.S. COAST GUARD HEADQUARTERS
DRAWN: S.M.
TRACED: OCEAN ENGINEERING
CHECKED:
e 2007 TYPE
Sean McEvo
—g‘—;g"oEg,EEgTBgNGINE R 6x16 LFR BUOY
.CG—HZB
REVIEWED BY: APPROVED: DATE
S.D. Walker, acting |12/11/07
CG—432 CHIEF, OFFICE OF CNIL ENGINEERING
UNLESS OTHERWISE SPECIFIED: DRAWING NUMBER —
ALL DIMENSIONS ARE IN INCHES. -
TOLERANCES: DIM. £1 _/32 1 21 1 84‘
ANG. 1 scae: AS NOTED |SHEEI' 2 oF 10

PLOTTING SCALE:

1-1/2"=1"-0"




TYP.

TYP.

TYP.

1/4

1/4

1/4

4
2
™
%.
— .’ :. j—p
AN .'
N ° AD
4
SECTION A—A
SCALE: 1-1/27=1"—0"
°© o o-m-o ° o—]%r
SECTION E—-E

SCALE: 1-1/2"=1"-0"

15§ y 158"

158"

158"

TOWER MIDDLE ASSEMBLY

SCALE: 1-1/2"=1'-0"

2y

:l i ¥ i .:-m-.. . ¥
ELEVATION

SCALE: 1-1/2"=1'-0"

223"
11§ 1y
5" 6 6"  S¥
e B\
30 o
(ﬂ - © )
5l | (T
\ .1 T ¥ 17 175 o TYP. 1"
- 5 [t \ iy
r .| e r oS J(_ Sy
w 12" | 2"
w] | <) Ed P oo | 1 ’

-_//.?v
A

N-(6) &8 HOLES|
78

B.C.

@RIGHT T0P _SUPPORT

@ T0P _PLATE

SCALE: 1-1/2"=1"-0"

8y
‘ 6" %9 TYP.
24",

(7) MIDDLE PLATE

SCALE: 1-1/2"=1'-0"

(») LH MIDDLE SUPPORT

SCALE: 1-1/2"=1'-0"

SCALE: 1-1/2"=1'-0"

12"
N
- &

MIDDLE GUSSET

SCALE: 1-1/2"=1"-0"

12” 1i§l

(10) RIGHT MIDDLE SUPPORT

SCALE: 1-1/2"=1'-0"

(3) TOP_GUSSET

SCALE: 1-1/2"=1"-0"

LL_

| 17 ¥
:E /— 175 ¢ TYP. [
Easc N
145" | 22§ [TEx45

@ LEFT TOP SUPPORT

SCALE: 1-1/2"=1'-0"

REV. | DATE | APPR. DESCRIPTION BY
DESIGNED: U.S. COAST GUARD HEADQUARTERS
DRAWN: S.M.
TRACED: OCEAN ENGINEERING
CHECKED:
e 2007 TYPE
Sean McEvo
—g‘—;g"oEg,EEgTBgNGINE R 6x16 LFR BUOY
.CG—HZB
REVIEWED BY: APPROVED: DATE
S.D. Walker, acting |12/11/07
CG—432 CHIEF, OFFICE OF CNIL ENGINEERING
UNLESS OTHERWISE SPECIFIED: DRAWING NUMBER —
ALL DIMENSIONS ARE IN INCHES. -
TOLERANCES: DIM. £1 _/32 1 21 1 84‘
ANG. 1 scae: AS NOTED |SHEEI' 3 oF 10

PLOTTING SCALE: 1-1/2"=1'-0"




1075”

I\2)

313’e

2;];"»

/\ o

=2 TYP.

¥t 4" | 5"

A

@ BOTTOM PLATE

SCALE: 1-1/2"=1"-0"

S S

ELEVATION

SCALE: 1-1/2"=1'-0"

/— &9 TYP.

(13) LH HOR SUPPORT

SCALE: 1-1/2"=1'-0"

21" %'e TYP.
i

138"

(©)RH_HOR SUPPORT

2y
( 5
il
e o \
o o /

W=

20" . 13
17.4
B'e TYP. ¥
It ns,
/s 16 > - L
34.7
(15) TOWER LEG

SCALE: 1-1/2"=1'-0"

=~

36"

303"

25§"

Iy

131"J?(£ | | 28

194"

(s) RIGHT VERT SUPPORT

1
J;_' /’ &' TYP. %i’x%‘ i’x45'_%ﬂl_1i"
= . | '
28 i,l' 133 | 194" 258" | 30} | 36" | 42} | 48Y 558" 558" | 483" | 42}
@LEI—T VERT SUPPORT
SCALE: 1-1/2"=1'-0"
- #ont” ST r
VA ik W
1 6 Ei,l, 1§ | 6§ ‘ 18
123"

(23) WASHER PLATE

SCALE: 1-1/2"=1"-0"

WASHER PLATE

SCALE: 1-1/2"=1'-0"

S il
A EEE)
26%

(27) WASHER PLATE

SCALE: 1-1/2"=1"-0" SCALE: 1-1/2"=1'-0"

SCALE: 1-1/2"=1'-0"

1" &°#x1° SLOT
i .
e < =]
74 J428])
143"

WASHER PLATE

#'#x1” sLoT
TYP.

1§

1%
L
6§ 18

128

(25) WASHER PLATE

SCALE: 1-1/2"=1"-0"

1"

L

SCALE: 1-1/2"=1'-0"

45°

~

33

1]

HANDLE

SCALE: 1-1/2"=1"-0"

o[

(i7) BOTTOM GUSSET

SCALE: 1-1/2"=1"-0"

RE

lg).

LEG GUSSET

SCALE: 1-1/2"=1'-0"

KNURLED

FINISH —\

(21) CLEVIS

SCALE: 1-1/2"=1"-0"

(22) LADDER RUNG

SCALE: 1-1/2"=1"-0"

] —— 1

3y

L 128

X—BRACE

SCALE: 1-1/2"=1"-0"

&'ox1" sLOT
/_ TYP.

WASHER PLATE

1 #Yg'ﬁ sLoT
r .
¥ 5§ 10§
B

WASHER PLATE

SCALE: 1-1/2"=1'-0"

SCALE: 1-1/2"=1"-0"

LEG BRACE

SCALE: 1-1/2"=1"-0"

D"E:ATE = U.S. COAST GUARD . HEADQUARTE:S
mg" > OCEAN ENGINEERING

o 2007 TYPE

raot e 6x16 LFR BUOY

| Dianng Bo |
CG—4328

REVIEWED BY: APPROVED: . DATE
S.D. Walker, acting |12/11/07
CG—432 CHIEF, OFFICE OF CML ENGINEERING

UNLESS OTHERWISE SPECIFIED: DRAWING NUMBER

121184

ALL DIMENSIONS ARE IN INCHES. REV.

TOLERANCES: DIM. £1/32

ANG. £1°

scae:  AS NOTED |SHEEI' 4 ofF 10

PLOTTING SCALE: 1-1/2"=1'-0"




T

1

92y

633"

]

20"

COQ e

BUOY BASE ASSEMBLY

SCALE: 1-1/2"=1"-0"

53 | 54

A A @
F
_1/2. : ﬁ\ EII’:|:’|:‘t\\| /::t :
)
>z @
V1%
60 ./
()
78 1/2 —wv
H H
(+2)
7 TYP.
5
NI | A
14 3/4 51/8 [] []
45/8 [] T []
S = — —Sra—
%Il' [N | 1
P 2 1/8 \.
()

CENTER PIPE ASSEMBLY

SCALE: 1-1/2"=1'-0"

TOLERANCES: DIM. £1/32
ANG. £1°

REV. | DATE | APPR. DESCRIPTION BY
DESIONED: U.S. COAST GUARD HEADQUARTERS
DRAWN:  S.M.
TRACED: OCEAN ENGINEERING
CHECKED:
e 5 2007 TYPE
M&/_
PROJECT ENGINEER] 6x16 LFR BUOY
.CG—HZB
REVIEWED BY: APPROVED: DATE
S.D. Walker, acting |12/11/07
CG—432 CHIEF, OFTICE_OF CMIL ENGINEERING
UNLESS OTHERWISE SPECIFIED: DRAWING NUMBER
ALL DIMENSIONS ARE IN INCHES. REV.

121184

scae:  AS NOTED |SHEEI' 5 oF 10

PLOTTING SCALE:

1-1/2"=1"-0"




15 3/4 15 3/4
//
T
15 3/4
31 1/2 I.D. N 57
15 3/4 /@
:
P D=rs
s TPOTE
36
SECTION F-—-F
@ SCALE: 1-1/2"=1'-0"
% TYP.
TP 7z

N
__\/J
0
0
_:_/‘“
.\\JJ

DLYeyn @ @

3776 @
Synreanl

vh

SECTION G—=G

SCALE: 1-1/2"=1'-0"

SECTION H—H

SCALE: 1-1/2"=1'-0"

13—1/8 RAD.

(8 1-1/4 DIA HOLES
ON A 46 BC
4
28 1/2
X
. 57
28 1/2
48 SQ.
DECK PLATE
SCALE: 1-1/2"=1"-0"
Kk —13 7/8 —fk—7/8
| 51/
20 | 3 LsH —31/2

i

DECK PLATE GUSSET

SCALE: 1-1/2"=1'-0"

CENTER PIPE PLATE

SCALE: 1-1/2"=1"-0"

2 1/aﬂﬁ|_cl> =

2 2

N—2'oxa” sLOT
¥—14 3/4 — TYP.

CENTER PIPE TAB

SCALE: 1-1/2"=1'-0"

1 3/4 kv 1 3/4

—1

1/2

21/2 [& N =
3 o 7 A
N 2 [

j[ 3 3
11/2 . / 2 1/2-
o&"x17t” SLOT TYP

(3 TOWER FOOT

SCALE: 1-1/2"=1'-0"

L7ﬁ

l
31/2 4

[ 3 1/2/\\

jzjv/z U

31/2

~ R3§”
L o3 1/2%

LIFTING BAIL

SCALE: 1-1/2"=1"-0"

(6) E"¢F’ sLOT
9F's B.C.

82

@ MOUNTING FLANGE

SCALE: 1-1/2"=1'-0"

REV. | DATE | APPR.

DESCRIPTION

BY

DESIGNED:
DRAWN:  S.M.
TRACED:
CHECKED:
REVIEWED BY:

Sean_McEvo
PROJECT ENGINEER

REVIEWED BY:

CG—432B
REVIEWED BY:

CG—432

U.S. COAST GUARD
OCEAN ENGINEERING

HEADQUARTERS

2007 TYPE
6x16 LFR BUOY

APPROVED: DATE

CHIEF, OFFICE OF CML ENGINEERING

S.D. Walker, acting |12/11/07

UNLESS OTHERWISE SPECIFIED:
ALL DIMENSIONS ARE IN INCHES.
TOLERANCES: DIM. £1/32

DRAWING NUMBER

121184

REV.

ANG. £1°

scae:  AS NOTED |SHEEI' 6 of 10

PLOTTING SCALE: 1-1/2"=1'-0"




3/16)

44
—1/2
2 | | |
[ | | i
D \/O o ~
| \V D
A__ _\\\ [e] [o] ///_
22
28 1/2 28 46
v

.
‘J @ \J 36
{ ® e

BALLAST ASSEMBLY

SCALE: 1-1/2"=1"-0"

J%%
o

14
g ‘\®
36

2 3/16

4 W 19 13/16
F1/4 k ﬂll

|
)
44
44
19 13/16
23
46 2 3/16
52
SECTION J—J
SCALE: 1-1/2"=1'-0"
ez e
23
19 13/16
TYP.
1/ 4 REV. | DATE | APPR. DESCRIPTION BY
DESIGNED: U.S. COAST GUARD HEADQUARTERS
TYP. DRAWN:  S.M.
TRACED: OCEAN ENGINEERING
CHECKED:
19 13/16 REVIEWED BY: 2007 TYPE
Sean McEvo
—g‘—;g"oEg,EEgTBgNGINE R 6x16 LFR BUOY
.CG—HZB
REVIEWED BY: APPROVED: DATE
SECTION [ S.D. Walker S.D. Wolker, octmg 12/11/07
» ) " CG—432 CHIEF, OFFICE OF CNIL ENGINEERING
SCALE: 1-1/2"=1'-0 UNLESS OTHERWISE SPECIFIED: DRAWING NUMBER =
ALL DIMENSIONS ARE IN INCHES. -
TOLERANCES: DIM. £1 _/32 1 21 1 84‘
ANG. 1 scae: AS NOTED |SHEEI' 7 oF 10

PLOTTING SCALE: 1-1/2"=1'-0"




1y 134"
o8

28

10"

() BOTTOM PLATE BRACE

SCALE: 1-1/2"=1'-0"

N
6
3 33
3 g 230
T A
LTV

(*9) MOORING BAIL

SCALE: 1-1/2"=1'-0"

15 5§ 18

'* :sg- 45%

SCALE: 1-1/2'=1'—0" (0) WASHER PLATE

SCALE: 1-1/2"=1'-0"

Y

BOTTOM PLATE

Z NN ]

) 22" )
A A 36" L L 247 L REV. | DATE | APPR. DESCRIPTION BY
A A A +# DESIGNED: U.S. COAST GUARD HEADQUARTERS
o, CIVIL ENGINEERING
‘TRACED:
BALLAST LEG (*)BALLAST BASE (*)BALLAST BASE o
SCALE: 1—1/2"=1'—O" SCALE: 1—1/2"=1'—O" SCALE: 1—1/2"=1'—O" EVENED B 2007 TYPE
e i 6x16 LFR BUOY
#Mpm- DATE
S.D. Walker, acting |12/11/07
CG—432 CHIEF, OFFICE OF CNIL ENGINEERING
UNLESS OTHERWISE SPECIFIED: DRAWING NUMBER -
ALL DIMENSIONS ARE IN INCHES. .
TOLERANC?-ZS: SDIM. :t1_/32 = 1 21 1 84
ANG. £1 scae:  NONE |SHEEI' 8 oF 10

PLOTTING SCALE: 1-1/2"=1'-0"




K 20 | K
|\ —3 3/16
8 3/16 i
A
68 DIA.
9-1/8 DIA.
63 1/2 i 20
¥ '
1
.#3 1/2
(10 [T oo
L L
A A
BUOY HULL
SCALE: 1-1/2"=1'-0"
, SECTION K—K SECTION L=L
21 13/16 ——4¢ 3/16 SCALE: 1—1/2"=1"—0" SCALE: 1-1/2"=1"-0"
Lt 113/16
8-7/8 x 5/16 SLOT—\ 27 3/4 23 3/16 8-7/8 x 5/16 sto1 — 27 3/4
55 3/8
_ | 31/16 /8 55 3/8
5 3/4 —4
REV. | DATE | APPR. DESCRIPTION BY
DESIGNED=SM U.S. COAST GUARD HEADQUARTERS
DRAWN: M.
27 5/16 TRACED: OCEAN ENGINEERING
CHECKED:
T 2007 TYPE
G HiaE 6x16 LFR BUOY
REVIE;I%_;Y?ZB APPROVED: DATE
2 /||/ 21 /||/ _S.DéG__W&EKQL S.D.CHIEW)F(H]clELéeCMrL ENGINEER%Ctin 12/11/07
RIGHT RADAR PANEL LEFT _RADAR PANEL KL Do o N e —
SCALE: 1-1/2"=1'-0" SCALE: 1-1/2"=1"-0" TOLERANCES: DIM.:!:1_/32 121 1 84‘
e ANG. 1 scae:  AS NOTED |SHEEI' 9 o 10

PLOTTING SCALE: 1-1/2"=1'-0"




BILL OF MATERIALS

BILL OF MATERIALS

oM [ DESCRIPTION MATL. REMARKS T DESCRIPTION MATL. REMARKS
1] 1 TOP PLATE ALUM. 44X /22 e 51| 8 THREADED RODS STAN. « 56— G,
2 |1 UPPER RING ALM. |, DR, 52| 8 HEAVY HEAD HEX NUT STAIN- 1 — 8UNC
3| 4 UPPER GUSSET ALUM. | 7 x 7 x 3/8 THK. 53 | 16 FLAT WASHER STAN. x15141/g P
4] 4 TOP SUPPORT ALUM. 2x2x1/4L 54 | 16 HEX HEAD NYLOCK NUT AN 1 — BUNC
5|2 RIGHT UPPER POST ALUM. 2x2x1/4L 55| 8 HEX HEAD BOLT 3] 3/4 ' 3 [QUNC
6|2 LEFT UPPER POST ALUM. | 2x2x1/4L 56 | 16 FLAT WASHER g < 113_/1152'%[,
71 4 MIDDLE PLATE ALUM. B x 8-1/2 x 1/4 THK 57| 8 HEX HEAD NYLOCK NUT 2k 3/4 — 10UNC
8 | 2 MIDDLE GUSSET ALUM. |12 x 12 x 3/16 THK 58 | 1 BUOY HULL FOAM SER ke
9 | 2 | LH MDDLE HORZ SUPPORT ALUM. 3x3x1/4L 59 LEFT RADAR PANEL FOAM 7é§ETﬂo--ET'5K
10| 2 | RH MIDDLE HORZ SUPPORT | ALUM. | 3 x3x1/4L 60 RIGHT RADAR PANEL FOAM L8 Tt 'K
1M 1 BOTTOM PLATE ALUM. 3131420 61| 76 HEX HEAD BOLT STAN- 13/8 — 13UNC x 2 LG.
12| 1 LOWER RING ALUM. | 32 DIA x 2-7/8 62 (152 FLAT WASHER STAN. 3/8 NOM.
13| 2 LH BOTTOM HOR SUPPORT ALUM. VA 63 | 76 HEX HEAD NYLOCK NUT AN 3/8 — 13UNC
14| 2 | RH BOTTOM HOR SUPPORT ALUM. A 64 | 1 BATTERY BOX STEEL | SEE DRAWING 121100
15| 4 TOWER LEG ALUM. 3x3x1/4L
16| 4 LEG GUSSET ALUMN. %
17| 3 BOTTOM GUSSET ALUM. S g%sTﬁlf
18| 4 LEG X—BRACE Am, | 31172 x 12172
19] 2 LEG BRACE Am, | 1271/ x 12172
2| 8 TOWER HANDLE ALUM. 1/2 DIA. ROD
21| 8 CLEVIS Am, | 4172 x 22172
22| 2 LADDER RUNG ALUM. 1 DIA. x 24 LG
23 | 4 | HORIZONTAL WASHER PLATE | ALUM. « /% R
24| 8 | MD & BOT WASHER PLATE ALUM. 1223452
25 | 4 | UPPER HORZ WASHER PLATE | ALUM. 12 17’//1' T2
26 | 4 | BOTTOM VERT WASHER PLATE | ALUM. « 384 f
27 | 4 TOP VERT WASHER PLATE ALUM. 26-3/4. X2
28 | 2 |H BOTTOM HORZ WASHER PLATE| ALUM. Va2
29 | 2 RH BOTTOM HORZ WASHER PLATE| ALUM. 1x2‘%5TﬁK2
30| 8 ISOLATOR PAD POLY 2% fuk
31|16 SHOULDER WASHER TEFLoN | 172,10 x 374 0D
32 | 24 HEX HEAD BOLT :ZFéy 1/ x2 7 L&%NC
33 | 48 FLAT WASHER STAN. 1/2 NOM.
34 | 24 HEX HEAD NUT STAN 1/2 — 13UNC
35 TOWER FOOT STEEL | 14 x 7 x 1/4 THK.
36 LIFTING BAIL STEEL . 111747THK
37| 1 MOUNTING FLANGE STEEL | 12 DIA x 1/2 THK.
38| 1 STAND SUPPORT PIPE STEEL 6 SCH 40 FIPE
39 | 1 DECK PLATE STEEL | 48 SQ. x 1/2 THK.
40| 4 DECK PLATE GUSSET STEEL | 20 x B x 1/2 THK.
411 CENTER PIPE STEEL 8 SCH 80 FIRE
2] 4 CENTER PIPE TAB STEEL | 434 x 32172
43 | 1 CENTER PIPE PLATE STEEL « 1_( }4 DT'ﬁK
44| 1 BOTTOM PLATE STEEL | 44 SQ. x 1/2 THK.
45| 4 BOTTOM PLATE BRACE STEEL | 15 x 10 x 1/2 THK.
46| 2 MOORING BAIL STEEL < 1 —61726TH|<
47| 4 BALLAST LEGS STEEL 6 X8, %s25% ¢
48| 2 BALLAST BASE STEEL 6 X 8%sie ¢
49 | 2 BALLAST BASE sEL | 88y %E\C
50 | 4 WASHER PLATE STEEL | 8 x 2 x 3/8 THK.

NOTES

SEE LATEST REVISION OF U.S.C.G. CIVIL ENGINEERING SPECIFICATION
No. 450 FOR FABRICATION REQUIREMENTS. DIMENS|IONAL TOLERANCES
FOR ITEM 60 ARE +1 FOR THE DIAMETER AND +1/4 FOR THE HEIGHT.

TACK WELD ITEM 51 TO ITEM 52.

FOAM RADAR PANELS CONSIST OF AN ALUMINUM FOIL SHEET HEAT SEALED
IN BETWEEN TWO FOAM PANELS. THE MOUNTING HOLES IN THE PANELS

SHALL BE BACK DRILLED DURING INSTALLATION TO ENSURE PROPER ALIGNMENT.

REV. | DATE | APPR. DESCRIPTION BY

DESIGNED: U.S. COAST GUARD HEADQUARTERS

oRawN: - S.M.

TRAGED: OCEAN ENGINEERING

CHECKED:

o v 2007 TYPE

R i 6x16 LFR BUOY

REVIE;l%_;Y?ZB APPROVED: DATE
S.D. Walker, acting |z/11/07

CG—432 CHIEF, OFFICE OF CNIL _ENGINEERING

TOLERANCES: DIM. £1/32
ANG. £1°

UNLESS OTHERWISE SPECIFIED:
ALL DIMENSIONS ARE IN INCHES.

DRAWING NUMBER

121184

REV.

scae:  AS NOTED |SHEEI'10 oF 10

PLOTTING SCALE:

1-1/2"=1"-0"




